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ui(si*(θθθθi),s*-i(θθθθ-i),θθθθi)���� ui(si’(θθθθi),s*-i(θθθθ-i),θθθθi), ���� i, ���� θθθθ, ���� si’ ≠≠≠≠ si*

E[u i(si*(θθθθi),s*-i(θθθθ-i),θθθθi)]���� E[u i(si’(θθθθi),s*-i(θθθθ-i),θθθθi)], ���� i, ���� θθθθ, ���� si’ ≠≠≠≠ si*

ui(si*(θθθθi),s-i(θθθθi),θθθθi)���� ui(si’(θθθθi),s-i(θθθθ-i),θθθθi), ���� i, ���� θθθθ, ���� si’≠≠≠≠ si*, ���� s-i
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Strategy
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Strategy
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Original
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“indirect”
mechanism

Outcome

Constructed “direct revelation” mechanism
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4��6 �6�23�θ6��. �6 ≠ � �6�23�θ6�
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C

B D

E
Agent’s utility is –cost if its route is chosen, 0 otherwise

cost

x(v)=argmax�i vi(x)  = ABEF
Payments:
TAC=5-5=0
TCE=5-5=0
TBD=5-5=0
TDF=5-5=0
TDF=5-5=0

Payments (Pivotal Agents):
TAB=2-6=-4 (paid 4 for its contribution)
TBE=4-6=-2 (paid 2 for its contribution)
TEF=4-7=-3 (paid 3 for its contribution)

“Market Power”
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